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L) equal marks"

QIl Solve an

a) account is called
is called
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side while the nghtThe- le hand side of an
hand side of an acccunt

b) Write any two objectives of

c) Give two examples of

d) , The long-term
that have value is

1) Posting

2) Entry

3) Accounting

4) None of the above

assets?

physical existence but are nghrs

\
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4)

Intangibl€Assets

AssetsTangible

The process of entering
is called
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I , Cost

Define standard costing.

r) budget
ir:respective of

?) Costing

oliiBLii oi- tuiriover achieveci.

.'

0

s)

hI

1) Fixed Flexible

3) Cash Sales

O The main objective of budgqtary control is:

l) to define the goal of the fimr

2) to coordinate different

1\L)

.4\-tJ

3) to plan to achieve its goals :,=
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1

L\B8.hRY

\

Ise46]-101

4) all of the above

!l . (rn: 1.r{rLi r!t!i!L .4"Lti' :- 1-r:, I r-:.: :.:,-a; i :-ii: I

i!i i-l+'t1 ,ri-);: ..; "-.-i i.:; ti .,it:. . :.L:j . .J I -. : .' i-- ,j!r" 
.

I ) l4atenai o,rly'

2'; Lai;rrur Oniv

3) Erpenses Onl5,'

'1) N{aterial, Labour and Expenses

rs designed to remain unchanged
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TrialBalance
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ii)
oh on sundry

iii)

As anAccountant you are required to trading and Profit and loss

account for the Year ended 31"

that date.

t59461-101 3

LEftARY

Amount iCredit Bala@eAmount =BalanceDebi

i.76.000Cupi*-l4+.u01)Dr-4wings

4,72,044'.s1,0(l.uG9a(Id machinery

2,000

P-rovision f"or bad

,,i' d cioubtful debts

20.{,r0(i

' lrl

:.. 1

Opening stock

20.000Bank o'*,'erdraft
--'-= =*.. .t .a. ::..

=_ 
=*70,0s8.'Purchases

Discottnt recei\/ed62 oo

24,A04Sundry creditors
-,:. ."
-J0,000

Wages

Insurance

Salaries

45,000

19,000Rent and taxes

70,000Sundry debtors

7,00,0007,00,000

1 and a balance sheet as on

D Stock on 31't March 2021 was Rs' l

*
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b,000
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ended on 3 1 3.2A2L As a Cost Accountant you are requirrd to prepare a

statement sf the cost ts sholr,,-?h* prirr:s ecst. factory. oost. cCIst af
productioil, totai fsst aftd ealc*late profitiloss tbr the y-*at" 2*2*-22"[9Sj

Fartieulars

DireetMaterials,, "'

Amcunt ks
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T
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10000Indirect

tr +
L

{n{'!nn

on of Office Assets 1

Factory Expenses 570t)

1000Selling Expenses

Otfice Salaries 450rr

Advertisements 2000

Direct Wages 75000

Other Direct 15000

Off-ice Rent & Rates 500

Depreciatioa ofM@nes 1500

Salan' to N{anagilg Directors 1

Tral'elling Expenses

Camage Outward

250000Sales
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f4j Solva any one

a) As a Cost Aeeountant' fi'orn

t* anai-v:se .

ii Frofit v*ltrrce raiio
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b) Aadesh EnterPrise L'td'

2021.
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D

ii)

Rs.1,01J,000

ealal a profit of Rs.20,00G

L

reiated to the Year
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h

L
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19

v) Margin of safety when sales are Rs' 4CO000
" :,'
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ProtltSales

9.i)L)0

13.r)00

1,20,000

1,40,000

s0000

120000

60000

20000

40000

Sales

Variable cost

Gross Profit

Fixed cost

Net Profit
- 1,=a

Ieqr3l1"6

have appointed as

PA/ Ratio

BEP

Profit when sales

Sales required to earn a profit of'Bs''' 80G00
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1,92,000

1,08,000

1,7 4,404

i,26"000

1,24,A00

1,44,000

2,43,W

2.46.060'

12,000

14,000

11,000

10,000

15,000

i) 50 per cent of the saies are follorving the saies

and the remainirg 50 1n second month follorr-ing.

ii) Creditors are paid the month of purchase.

1ii) Cash at bank on rc Rs. 25,000.

b) As afinaace are i'equired tc assess Material Cost Variance.

\,latenal Pnce arad Material Usage Variance frcm the

inlbnrration:
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Pnce

Rs.

Valr.ie

Rs

Qty.

Kgs

Qty.

Kgs

40010s- 4100 5 500MaterialA

4s04 3?0 ?(sMaterial B 80

aJ 1502 :(lMatenai C 40

100224

80
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